
Fall 2018 LTAM 

Multiple Choice Solutions 

 

Comments on candidates’ performance on the multiple choice questions. 

Questions 9, 11, 14, 15 and 19 attracted the lowest number of correct answers. 

Questions 2, 4, 7 and 13 attracted the highest number of correct answers. 

Overall the average number of correct answers was lower than in recent MLC exams. 
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Question 4: D 

     Paths         Probability 
1 → 1→ 1 → 1  30.2   
1 → 1→ 3 → 1  (0.2)(0.5)(0.9) 
1 → 3→ 1 → 1  (0.2)(0.5)(0.9) 
1 → 3→ 1 → 1  0 

Total probability 0.1880 
 
Question 5: C 
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Question 6: B 
 

Prob= 0.76(1 0.962 0.25)(1 0.964 0.965 0.26) 0.4376        
 
Question 7: B 
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Question 8: C 
 
 
Question 9:  A 
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Question 10: E 
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Question 11: E 

EPV Premiums:  (1 0.99 ) 1.9519P v P    
EPV Benefits:  
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Question 12: E 
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Question 13: D 
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Question 14: D 
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Question 15: A 
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Question 16: C 
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Question 17: A 
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Question 18: B 
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Question 19: E 
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Question 20: A 
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Projected final salary: 29
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Projected replacement rate:  0.02(56.08) 35.95%
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